Fall '07/MAT 150/Worksheet 6 Name: S" ‘“{f?j]f" ¥

Show all your work.

1. (4pts) The table below indicates the values of f({z) and g{x) for certain numbers. Find
the requested composites at right.
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2. (8pts) Let f(r) = 2* — 5r + 2 and g(x) = VT — 5. Find the following composites and
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3. (4pts) Find functions f and g so that fog= H, if H{z) = (x — 3)*. Find two different
solutions to this problem, neither of which is the “stupid” one.

F - { e | !_'f:r"f =N _'{:::':l +9
= )= s5L%] = A :
2 _ ; st § R
2o 2 ) ’ L. Al s{—éx’
Fifis o0 £ ()= (X~2) v
Ll 2 v k)= LX

€ ()2 x4+ _9




ﬁiﬂb{f Ve Vi b=

,.'f *./’af“}':(u.ﬂ
f‘c_j.z F"ﬂ"* =1

4. (5pts) The graph of a
function f is given. Use it to
find the graph of f~'. label-
ing the relevant points and
showing its asymptote.
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5. (5pts) Find the inverse of g(x) = ii ; - and the range of g
et S L
ey - 4x+7 g DTl
9 %47 A A4
7, g

0 o
- e - YX?..- by 8 ff 'E, = IC{.’-L,-"--""-'-"\“' f“;_ i,
4}{:.'"‘1'-7;;-‘—_ = lghrtj.ﬂ % -
; = Jy| y4 2§
4;{{.1_J}.{=—f~?—f 1o 74 g J
v o
22 I
& =K L_(:]
.a""L_ = o o Fit _?". ] i |
X (+w' 3 /I | ( { ;
s 2
G-

6. (dpts) Use the basic graph of y = ¢ and transformations to help you sketch the graph
of ¥ = 3 — ¢*. Explain how you transform the original graph and what the asymptote of the
new graph is.
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